Kk

4 H wswa | (8o

e ¥t)
£ TR T 6. 6398 6.62 |0.0198 | 0.30%
CBOT k& (7F &%) (£4/# XF) 991 978 13 1.33%
CBOT K8 (F444) (£4/#H XF) 979. 25 978 1.25 | 0.13%
£ 2.3 %m A (/o) 3318.93 | 3337.1 |-18.17 | —0.54%
£ 2 NEKR (£ XF) 49 49 0 0. 00%
#o 28 :BFRiaf% (£1/%) 44 44 0 0. 00%
X8 | #ELRE FHEREK (/) 3324. 61 | 3342.77 | -18.16 | —0. 54%
mERE AWK (Eo5/FXF) 81 81 0 0. 00%
mEKk2:BFREHR (£1/7) 33 33 0 0. 00%
#Ho B A (o) 6747 6848 -101 | -1.47%
BHE HAE (Fob) 796 275 521 | 189.45%
FHMH: KRB (T/ok) 3625.26 | 3625.26 0 0. 00%
K2 (BZ=%) A8 (u/#+&) | 3800 3800 0 0. 00%
K& (B> =%):Fm (/o) 4000 4000 0 0. 00%
X2 (BA=%): 6%% (;L/#) | 4000 4000 0 0. 00%
x& | KeE(E*=%): k& (n/#) 3950 3950 0 0. 00%
AR | K2 (BX=%):%5RE (u/&) | 3800 3800 0 0. 00%
Mg | K2 (o =%) %4 (T/w4) 3260 3260 0 0. 00%
K& (@ =%) 40 (/) 3260 3260 0 0. 00%
KE (@ %) 7k (/) 3280 3280 0 0. 00%
K& (e %) kE#HE (L/+) | 3280 3280 0 0. 00%
KE (e %) 58 (/) 3400 3400 0 0. 00%
FRE: K& -366 -336 -30 8. 93%
FRKE: RE -452 -421 -31 7. 36%
JEA% B~ K2 LA -591 -588 -3 0.51%
A1 i #o kg KiE 303 333 -30 | —9.01%
#oks: K& 218 248 -30 |-12.10%
#okg LAk 126 129 -3 -2.33%
RN GELE) (L/vk) 3565 3646 -81 -2.22%
B | BRAEN (FE A L) (/) 3682 3724 -42 | -1.13%
H#s 244 1801 (T/#k) 2835 2852 -17 | —0.60%
2.7h 1801 (/#k) 6066 6050 16 0. 26%
fon 2 EMeEE: 82— 18835 18885 -50 | —0.26%
WEH: 24 (T/oh) 3044.24 | 3045.76 | -1.52 | —0.05%
T % MEH:—B B d (T/wk) 6098. 33 | 6098. 33 0 0. 00%
MM wE e (/o) 6041.58 | 6033.16 | 8.42 | 0.14%
A E £ £ (u/wk) -56.74 | -98.74 42 | -42.54%
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£ 4/ CBOT12 A#yesaatticsk 1.2 £, R 315.9 £/48vk, £
Kﬂ%wwME*&ﬁ%ﬁ%ﬁ%,&EQMT$WH19H%H,%Ek
SHORIRERN 2,562,444 vk, & T T HIAEE 130-190 7 ok, AT— & #4E
J& 7 1,785,943 vh, A A 1,770, 324 vk, £ [ K 2k (USDA) 2 44 4 J8 4F
A KBERE T, RE2017 510 A 228 %8, £E KSIEEH 70%,
SATIT-F TR A 64%, Z AT — B A 49%, EFRIHAHR 74%, BFIEHR 73%.
BEAZ@, K2 1801 &4 F & T, KRz&%, R ) @eEHt; Jadk 3682
T/ok, A 1.13%; 244 1801 &4 S =%, JKIR 2835 /v, #laH
0. 60%; 2.ih 1801 A ZILIR 6066 L/wk, Fkh&H 0.26%. 4F K & F = FIK,
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